>

Stage I+lI

100

Percent survival (%)
()]
?

—— CSS-L
—— CSS-H

P <0.0001

0 T T T T
0 5 10 15 20 25
Time (years)
C
NO
100~ —— CSS-L
—— CSS-H
9
= P <0.0001
2
e
3 50
€
Q
O
o]
S
0 T T T T
0 5 10 15 20 25
Time (years)
E
Male
100+ — CSS-L
—— CSS-H
= P <0.0001
[}
2
c
@ 50
€
[0}
o
[0}
S |
0 T T T T
0 5 10 15 20 25

Time (years)

Stage IlI+IV
100+ —— CSS-L
—— CSS-H
e P=0.0347
©
2
c
@ 50
€
[}
o
@
K
0 T T T T
0 5 10 15 20 25
Time (years)
N1+ N2+ N3
100 —— CSS-L
—— CSS-H
1 P=0.0102

Percent survival (%)
a
?

0 T T T T
0 5 10 15 20 25
Time (years)
Female
100 —— CSS-L
—— CSS-H
S P <0.0001
®©
2
I
? 50
<
[0
o
[0)
S L
0 T T T T
0 5 10 15 20 25

Time (years)

B
T1+T2
100 — CSS-L
—— CSSH
g
= P <0.0001
®©
2
c
3 50
€
8
[0}
S
0 T T T
0 10 15 20 25
Time (years)
D
Age <=70
100 — CSS-L
—— CSS-H
1 P <0.0001

Percent survival (%)
[6)]
?

T T T
10 15 20 25
Time (years)

100

Percent survival (%)
[y
T

T3+T4
— CSS-L
—— CSS-H
P=0.0100

0 T T T
0 10 15 20 25
Time (years)
Age >70
100 —— CSS-L
—— CSS-H
) P =0.0007

Percent survival (%)
()
?

T T T
10 15 20 25
Time (years)



